
Math 234 Quiz 09 November 2014
Name: TA: Yuan Liu

Problem 1 (5 points): Let V be the volume of the region in the first octant under the graph
of z = xy above the domain

D = {(x, y) : x ≥ 0, y ≥ 0, x2 + y2 ≤ 4}.

Use Polar Coordinates to compute V .
Solution:
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Problem 2 (5 points): Find the area of the region D bounded by y = x2 and y = x+ 2.
Solutions: First, find the intersection points of y = x2 and y = x + 2. Pluging the second
equation into the first one, we have

x2 = x+ 2⇐⇒ (x+ 1)(x− 2) = 0.

So we have the two intersection points: (−1, 1) and (2, 4). Then
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